


2

EAVE FLASHING INSTALLATION AT BUILDING CORNER

SUPPLEMENT SHEETS

TYPICAL CROSS-SECTION
PLAN VIEW & DETAILS

FOUNDATION PREPARATION PLAN VIEW
BUILDING LAYFLAT
MATERIAL LISTS
ELEVATIONS

SS-3
SS-2
SS-1

6

8

5
4
3

PANEL & PANEL RACK HANDLING TIPSPAGE #1

DRAWING INDEX

7
BASE SECTIONS

9

OPTIONAL PANEL LIFTING ISOMETRIC

FLAT-ROOF ASSEMBLY SEQUENCE

BATT INSULATION

GLASS / PLEXIGLASS

RIGID INSULATION

CONCRETE

EARTH

(ELEVATION)

TOOL LIST
DescriptionQty.

SECTIONDETAIL

DOOR INSTALLATION INSTRUCTIONS



UNLOADING & LIFTING PANEL
RACKS WITH A FORKLIFT

STORING PANEL RACKS IN
STACKED POSITIONS

REMOVING PANELS
FROM RACKS

SEPARATING PANEL RACKS
LIFTING PANEL RACKS
WITH SLINGS



FRONT ELEVATIONLEFT ELEVATION

BACK ELEVATIONRIGHT ELEVATION



OVERLAP DETAIL

MATERIALS LIST

Qty
8 FR3122

RP-1 29G
14 3082

WP-1 29G
2 2308

WP-2 29G
2 3908 RSO

WP-3 29G
4 3909 RSO

WP-4 29G
2 3910 RSO

WP-5 29G
2 2129

A15
4 2089

A15
16 2039

A15
1

1
1 Pint
1 Pint
2
2
20
75 ft
3 Rolls
2 Tubes

350
350
50

4 8'
10 10'-6"
600

2" Insul. 28Ga. Galv. Liner

Description

2" Insul.

11'-11.5/8" Erection Angle

Flat Roof Panel 3'x12'x2"
29Ga Galv Sht

28Ga. Galv. Liner

Wall Panel 3'x8'x2"
29Ga Galv Sht

7'-11.5/8" Erection Angle

28Ga. Galv. Liner
Wall Panel 2'-3"x8'x2"
29Ga Galv Sht 2" Insul. 28Ga. Galv. Liner
Door Panel 3'-9"x8'x2" 3'x7' P. Door (HRSO)
29Ga Galv Sht 2" Insul.

L1.1/2x1.1/2x1/8

Touch Up Paint - Panel Frames

L1.1/2x1.1/2x1/8
2'-11.7/8 Flat Roof Erection Angle

Frigidaire FRA08E1
L1.1/2x1.1/2x1/8

Set Assembly Drawings (w/MSDS Sheets)

Outer Closure Strip Imperial Rib

Red Primer
Touch Up Paint - Door Mfg. Door Gray
S. Parker Door Knob

Corner Caps Galvalume

Caulking - Clear Latex

Building Bolts

#14 x 7/8" T-1 Screw w/ Washer Galvanized

3/8"x1" Bolts, Zinc Plated

Building Flashing

Eave Flashing Galvalume

Wall Panel 3'x8'x2" 2'x3' Sliding Window
29Ga Galv Sht 2" Insul. 28Ga. Galv. Liner
Wall Panel 3'x8'x2" A/C Frameout
29Ga Galv Sht 2" Insul. 28Ga. Galv. Liner

3/8"Nuts, Zinc Plated
3/8"x3" Hilti KH-EZ Screw Anchors

Batt Insulation
1/2" x 1.1/2" Adhesive Base Seal - 25Ft

S. Parker Door Closer



BUILDING LAYFLAT

R
P

-1

R
P

-1

R
P

-1

R
P

-1

R
P

-1

R
P

-1

R
P

-1

R
P

-1

W
P

-1

W
P

-1

W
P

-1

W
P

-1

W
P

-1

W
P

-1

W
P

-1

W
P

-1

W
P

-1

W
P

-1

W
P

-1

W
P

-1

WP-2

WP-2

WP-3

WP-3

WP-1

WP-1

W
P

-4

W
P

-4

W
P

-4

W
P

-4

WP-5

WP-5



FOUNDATION PREPARATION PLAN VIEW

STEP #3 - CHALK LINESTEP #2 - DIAGONAL MEASUREMENTSTEP #1 - MARKER POINTS



PANEL BASE SECTION
SCALE:  1 1/2" = 1'-0"

BASE CONNECTION SPACING DETAIL
SCALE:  1 1/2" = 1'-0"



ATTENTION INSTALLER:

DOOR PANEL MUST BE POSITIONED AND ADJUSTED
IN THE FIELD.  DUE TO CONDITIONS OF THE
FOUNDATION / FLOOR, WE HAVE NO CONTROL
OVER PROPER ALIGNMENT OF DOOR PANEL.

(INSTRUCTIONS FOR OVERHEAD DOOR ARE INCLUDED WITH THE DOOR)



PLAN VIEW

DOOR & WINDOW SCHEDULE

TYPICAL PANEL CONNECTION DETAIL
SCALE:  1 1/2" = 1'-0"

TYPICAL CORNER CONNECTION DETAIL
SCALE:  1 1/2" = 1'-0"



CROSS-SECTION

ROOF TO SIDE WALL CONNECTION DETAIL
SCALE:  1 1/2" = 1'-0"

ROOF TO END WALL CONNECTION DETAIL
SCALE:  1 1/2" = 1'-0"



OPTIONAL PANEL LIFTING ISOMETRIC



EAVE FLASHING INSTALLATION AT CORNER



ASSEMBLY SEQUENCE


